
M6 x 1.0 x 30

MHC152

FRONT

BACK

METRIC HARDWARE (M6-M12)
Serviced By:
319 Cooke Street, Plainville CT 06062

1-800-624-6735 www.robrandproducts.com

M6 x 1.0 x 20

MHC148
M6 x 1.0 x 16

MHC146
M6 x 1.0 Hex Nut
MHN104

M8 x 1.25 x 25

MHC183

M8 x 1.25 x 20

MHC181
M8 x 1.25 x 16

MHC179

M8 x 1.25 x 50

MHC189

M8 x 1.25 x 40

MHC187
M8 x 1.25 x 35

MHC186

M10 x 1.5 x 30

MHC214

M10 x 1.5 x 25

MHC212
M10 x 1.5 x 20

MHC210

M10 x 1.5 x 50

MHC218
M10 x 1.5 x 40

MHC216

M12 x 1.75 x 50

MHC245

M12 x 1.75 x 40

MHC243
M12 x 1.75 x 30

MHC241

M6 Flat Washer

MFW06
M6 Lock Washer

MLW06

M8 x 1.25 Hex Nut
MHN106

M8 Flat Washer

MFW08
M8 Lock Washer

MLW08

M10 x 1.5 Hex Nut
MHN108

M10 Flat Washer

MFW10
M10 Lock Washer

MLW10

M12 x 1.75 Hex Nut
MHN111

M12 Flat Washer

MFW12
M12 Lock Washer

MLW12

M8 x 1.25 x 30

MHC185

M10 x 1.5 x 35

MHC215

M12 x 1.75 x 20

MHC238
10-3-15 REV A


